Decompositions of the Cauchy and Ferrers-Jackson polynomials

Nurettin Irmak 1,* and Emrah Kiliç 2

¹ Department of Mathematics, Art and Science Faculty, Niğde University, 51 240, Niğde, Turkey

² Department of Mathematics, TOBB University of Economics and Technology, 06560, Ankara, Turkey

Received November 25, 2015; accepted January 23, 2016

Abstract. Recently, Witula and Slota have given decompositions of the Cauchy and Ferrers-Jackson polynomials [Cauchy, Ferrers-Jackson and Chebyshev polynomials and identities for the powers of elements of some conjugate recurrence sequences, Central Europan J. Math., 2006]. Our main purpose is to derive a different decomposition of the Cauchy and Ferrers-Jackson polynomials. Our approach is to use the Waring formula and the Saalschütz identity to prove the claimed results. Also, we obtain generalizations of the results of Carlitz, Hunter and Koshy as corollaries of our results about sums and differences of powers of the Fibonacci and Lucas numbers.

AMS subject classifications: 11B89, 11B39

 ${\bf Key\ words}:$ Cauchy polynomial, Ferrers-Jackson polynomial, Fibonacci numbers, Lucas numbers

1. Introduction

For $n \in \mathbb{N}$, the Cauchy and Ferrers-Jackson polynomials are defined by

$$p_n(x,y) := (x+y)^{2n+1} - x^{2n+1} - y^{2n+1}$$

and

$$q_n(x,y) := (x+y)^{2n} + x^{2n} + y^{2n}$$

respectively. Some authors have studied their decompositions. Recently, Witula and Slota [8] have obtained the following decompositions

$$p_n(x,y) = \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} \frac{2n+1}{n-k} {\binom{n-k}{2k+1}} \left(xy \left(x+y \right) \right)^{2k+1} \left(x^2 + xy + y^2 \right)^{n-3k-1}$$
(1)

and

$$q_n(x,y) = \sum_{k=0}^{\left\lfloor \frac{n-1}{2} \right\rfloor} \frac{2n}{n-k} {\binom{n-k}{2k}} \left(xy \left(x+y \right) \right)^{2k} \left(x^2 + xy + y^2 \right)^{n-3k}.$$
 (2)

*Corresponding author. *Email addresses:* irmaknurettin@gmail.com (N.Irmak), ekilic@etu.edu.tr (E.Kiliç)

http://www.mathos.hr/mc

©2016 Department of Mathematics, University of Osijek

The proof of these decompositions was given by induction based on simple recurrence dependence between polynomials $p_n(x, y)$ and $q_n(x, y)$.

In this paper, our main purpose is to derive alternative approach to obtain different decompositions of the Cauchy and Ferrers-Jackson polynomials. To prove the claimed result, our approach is to use the Waring formula and the Saalschütz identity given by

$$a^{m} + b^{m} = \sum_{k=0}^{\lfloor m/2 \rfloor} (-1)^{k} \frac{m}{m-k} \binom{m-k}{k} (ab)^{k} (a+b)^{m-2k}, \quad m > 0,$$

and for $n \ge 0$

$$F\left(\begin{array}{c} a, b, -n \\ c, a+b-c-n+1 \end{array} \middle| 1\right) = \frac{(c-a)^{\overline{n}} (c-b)^{\overline{n}}}{c^{\overline{n}} (c-a-b)^{\overline{n}}},$$

respectively, where \overline{n} is the rising factorial power: $\overline{n} = x (x + 1) \dots (x + n - 1)$ (for more details about the Saalschütz identity and the rising factorial power, we refer to [4]).

It would be much valuable to note that the decompositions of the Cauchy and Ferrers-Jackson polynomials are very closely related to the identities given by Carlitz, Hunter and Koshy on differences and sums of powers of the Fibonacci and Lucas numbers up to seventh and eighth powers, respectively.

We also present generalizations of the identities of Carlitz [1], Hunter and Koshy [5] including the Fibonacci and Lucas numbers for any odd and even powers as applications of our main results

Recall that the well-known Fibonacci sequence $\{F_n\}$ is defined by the recurrence

$$F_n = F_{n-1} + F_{n-2}, \quad n > 1$$

with initials $F_0 = 0$ and $F_1 = 1$. The Lucas sequence $\{L_n\}$ satisfies the same recurrence relation but the initials are $L_0 = 2$ and $L_1 = 1$. A formula for the generating functions of powers of general cases of these sequences and squaring terms of an ℓ -sequence were also given in [6] and [7], respectively.

Now we recall the results of Carlitz [1]. He proposed the following interesting identities as advanced problems for n > 1

$$F_{n+1}^{3} - F_{n}^{3} - F_{n-1}^{3} = 3F_{n+1}F_{n}F_{n-1},$$

$$L_{n+1}^{3} - L_{n}^{3} - L_{n-1}^{3} = 3L_{n+1}L_{n}L_{n-1},$$

$$F_{n+1}^{5} - F_{n}^{5} - F_{n-1}^{5} = 5F_{n+1}F_{n}F_{n-1}\left(2F_{n}^{2} + (-1)^{n}\right),$$

$$L_{n+1}^{5} - L_{n}^{5} - L_{n-1}^{5} = 5L_{n+1}L_{n}L_{n-1}\left(2L_{n}^{2} - 5\left(-1\right)^{n}\right),$$

$$F_{n+1}^{7} - F_{n}^{7} - F_{n-1}^{7} = 7F_{n+1}F_{n}F_{n-1}\left(2F_{n}^{2} + (-1)^{n}\right)^{2},$$

$$L_{n+1}^{7} - L_{n}^{7} - L_{n-1}^{7} = 7L_{n+1}L_{n}L_{n-1}\left(2L_{n}^{2} - 5\left(-1\right)^{n}\right)^{2}.$$
(3)

Then Carlitz proved his propositions two years later. Also, Charles Wall independently solved the problem at the same time (see [2]). For the sums of powers of Fibonacci and Lucas numbers, Carlitz, Hunter and Koshy gave the following identities,

$$\begin{aligned} F_{n+1}^{4} + F_{n}^{4} + F_{n-1}^{4} &= 2\left(2F_{n}^{2} + (-1)^{n}\right)^{2}, \\ L_{n+1}^{4} + L_{n}^{4} + L_{n-1}^{4} &= 2\left(2L_{n}^{2} - 5\left(-1\right)^{n}\right)^{2}, \\ F_{n+1}^{6} + F_{n}^{6} + F_{n-1}^{6} &= 2\left(2F_{n}^{2} + (-1)^{n}\right)^{3} + 3F_{n-1}^{2}F_{n}^{2}F_{n+1}^{2}, \\ F_{n+1}^{8} + F_{n}^{8} + F_{n-1}^{8} &= 2\left(2F_{n}^{2} + (-1)^{n}\right)^{4} + 8F_{n-1}^{2}F_{n}^{2} \\ &\times \left(F_{n-1}^{4} + F_{n}^{4} + 4F_{n-1}^{2}F_{n}^{2} + 3F_{n-1}F_{n}F_{2n-1}\right). \end{aligned}$$
(4)

2. Decomposition of the Cauchy and Ferrers-Jackson polynomials

Before our main results, we give a lemma playing a crucial point.

Lemma 1. For m > 0 and $r \in \{0, 1\}$, then

$$\sum_{k=0}^{\left\lfloor\frac{t-r+1}{3}\right\rfloor} {t-k+1 \choose t-3k-r+1}_{3,2} {t-3k-r+1 \choose m-2k} = \frac{2t+r+2}{2t-m+2} {2t-m+2 \choose m+r},$$

where

$$\binom{n}{k}_{3,2} = \frac{3n-k}{n}\binom{n}{k}.$$

Proof. Assume that r = 1. In a much clear form we have to prove that

$$\sum_{k=0}^{\lfloor t/3 \rfloor} {\binom{t+1-k}{t-3k} \binom{t-3k}{m-2k} \frac{1}{t+1-k}} = \frac{1}{m+1} {\binom{2t-m+1}{m}}.$$

Consider the LHS of the claimed identity

$$\sum_{k=0}^{\lfloor t/3 \rfloor} {\binom{t+1-k}{t-3k} \binom{t-3k}{m-2k} \frac{1}{t+1-k}} = \sum_{k=0}^{\lfloor t/3 \rfloor} \frac{(t-k)!}{(2k+1)! (m-2k)! (t-m-k)!}$$

Define

$$T_k := \frac{(t-k)!}{(2k+1)! (m-2k)! (t-m-k)!}$$

Consider

$$\begin{split} \frac{T_{k+1}}{T_k} &= \frac{(t-k-1)!\,(2k+1)!\,(m-2k)!\,(t-m-k)!}{(2k+3)!\,(m-2k-2)!\,(t-m-k-1)!\,(t-k)!} \\ &= \frac{(m-2k)\,(m-2k-1)\,(t-m-k)}{(2k+3)\,(2k+2)\,(t-k)} \\ &= \frac{\left(k-\frac{m}{2}\right)\,\left(k-\frac{m-1}{2}\right)\,(k+m-t)}{(k-t)\,\left(k+\frac{3}{2}\right)\,(k+1)}. \end{split}$$

Since

$$\sum_{k=0}^{\lfloor t/3 \rfloor} \binom{t+1-k}{t-3k} \binom{t-3k}{m-2k} \frac{1}{t+1-k} = T_0 F \begin{pmatrix} -\frac{m}{2}, & -\frac{m-1}{2}, & m-t \\ \frac{3}{2}, & -t \end{pmatrix} \Big| 1 \Big),$$

the LHS of the above sum yields the Saalschütz identity. Thus

$$\sum_{k=0}^{\lfloor t/3 \rfloor} {\binom{t+1-k}{t-3k} \binom{t-3k}{m-2k} \frac{1}{t+1-k}} = {\binom{t}{m}} F \begin{pmatrix} -\frac{m}{2}, & -\frac{m-1}{2}, & m-t \ \\ \frac{3}{2}, & -t \end{pmatrix} \left| 1 \right)$$
$$= {\binom{t}{m}} \frac{\left(\frac{m+3}{2}\right)^{\overline{t-m}} \left(\frac{m+2}{2}\right)^{\overline{t-m}}}{\left(\frac{3}{2}\right)^{\overline{t-m}} (m+1)^{\overline{t-m}}}$$
$$= \frac{1}{m+1} \binom{2t-m+1}{m},$$

as claimed.

Now suppose that r = 0. Thus the claim takes the form

$$\sum_{k=0}^{\left\lfloor \frac{t+1}{3} \right\rfloor} {\binom{t-k+1}{t-3k+1} \binom{t-3k+1}{m-2k}} \frac{1}{t-k+1} = \frac{1}{2t-m+2} {\binom{2t-m+2}{m}}.$$

Define

$$T_k := \binom{t-k+1}{t-3k+1} \binom{t-3k+1}{m-2k} \frac{1}{t-k+1}.$$

Thus

$$T_k = \frac{(t-k+1)!}{(t-3k+1)!(2k)!} \frac{(t-3k+1)!}{(m-2k)!(t-m-k+1)!} \frac{1}{t-k+1}$$
$$= \frac{(t-k)!}{(2k)!(m-2k)!(t-m-k+1)!}$$

and so

$$\frac{T_{k+1}}{T_k} = \frac{(t-k-1)!}{(2k+2)! (m-2k-2)! (t-m-k)!} \frac{(2k)! (m-2k)! (t-m-k+1)!}{(t-k)!} \\
= \frac{(m-2k) (m-2k-1) (t-m-k+1)}{(t-k) (2k+2) (2k+1)} \\
= \frac{(k-\frac{m}{2}) (k-\frac{m-1}{2}) (k+m-t-1)}{(k-t) (k+1) (k+\frac{1}{2})}.$$

Thus we write

$$\sum_{k=0}^{\lfloor \frac{t+3}{3} \rfloor} \binom{t-k+1}{t-3k+1} \binom{t-3k+1}{m-2k} \frac{1}{t-k+1} = T_0 F \left(-\frac{m}{2}, -\frac{m-1}{2}, m-t-1 \middle| 1 \right),$$

which, by the Saalschütz identity and $T_0 = {\binom{t+1}{m}} \frac{1}{t+1}$, equals

$$\binom{t+1}{m}\frac{1}{t+1}\frac{\left(\frac{m+1}{2}\right)^{\overline{t-m+1}}\left(\frac{m}{2}\right)^{\overline{t-m+1}}}{\left(\frac{1}{2}\right)^{\overline{t-m+1}}m^{\overline{t-m+1}}} = \frac{1}{2t-m+2}\binom{2t-m+2}{m},$$

as claimed.

Now we are ready to give our main first result:

Theorem 1. For $m \ge 0$ and $r \in \{0, 1\}$; then

$$(a+b)^{2m+r} + (-a)^{2m+r} + (-b)^{2m+r} = \sum_{i=0}^{\lfloor (m-r)/3 \rfloor} {m-i \choose m-3i-r}_{3,2} (ab(a+b))^{2i+r} (a^2+ab+b^2)^{m-3i-r}.$$
 (5)

Proof. Firstly, assume that r = 0. By the Waring formula, we have

$$(a+b)^{2m} + a^{2m} + b^{2m}$$

= $(a+b)^{2m} + \sum_{k=0}^{m} \frac{2m}{2m-k} {2m-k \choose k} (-1)^k (ab)^k (a+b)^{2m-2k}$

which, after an arrangement, equals

$$2(a+b)^{2m} + \sum_{k=1}^{m} \frac{2m}{2m-k} {\binom{2m-k}{k}} (-1)^k (ab)^k (a+b)^{2m-2k} = {\binom{m}{m}}_{3,2} (a+b)^{2m} + \sum_{k=1}^{m} \frac{2m}{2m-k} {\binom{2m-k}{k}} (-1)^k (ab)^k (a+b)^{2m-2k},$$

which, by Lemma 1, yields

$$\begin{split} \sum_{k=0}^{m} \sum_{i=0}^{\lfloor \frac{m}{3} \rfloor} \binom{m-i}{m-3i}_{3,2} \binom{m-3i}{k-2i} (-1)^{k} (ab)^{k} (a+b)^{2m-2k} \\ &= \sum_{i=0}^{\lfloor \frac{m}{3} \rfloor} \binom{m-i}{m-3i}_{3,2} \sum_{k=2i}^{m-i} \binom{m-3i}{k-2i} (-1)^{k} (ab)^{k} (a+b)^{2m-2k} \\ &= \sum_{i=0}^{\lfloor \frac{m}{3} \rfloor} \binom{m-i}{m-3i}_{3,2} \sum_{k=0}^{m-3i} \binom{m-3i}{k} (-1)^{k} (ab)^{k+2i} (a+b)^{2m-2k-4i} \\ &= \sum_{i=0}^{\lfloor \frac{m}{3} \rfloor} \binom{m-i}{m-3i}_{3,2} (ab+(a+b))^{2i} \left((a+b)^{2}-ab\right)^{m-3i}, \end{split}$$

which completes the proof for the case r = 0.

167

Consider the case r = 1:

$$\begin{split} (a+b)^{2m+1} &- a^{2m+1} - b^{2m+1} \\ &= (a+b)^{2m+1} - \sum_{k=0}^{m} (-1)^k \frac{2m+1}{2m+1-k} \binom{2m+1-k}{k} (ab)^k (a+b)^{2m+1-2k} \\ &= \sum_{k=1}^{m} (-1)^{k+1} \frac{2m+1}{2m+1-k} \binom{2m+1-k}{k} (ab)^k (a+b)^{2m+1-2k} \\ &= \sum_{k=0}^{m-1} (-1)^k \frac{2m+1}{2m-k} \binom{2m-k}{k+1} (ab)^{k+1} (a+b)^{2m-2k-1} , \end{split}$$

which, by the Lemma 1, equals

$$\begin{split} \sum_{k=0}^{m-1} (-1)^k \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} \binom{m-i}{m-3i-1}_{3,2} \binom{m-3i-1}{k-2i} (ab)^{k+1} (a+b)^{2m-2k-1} \\ &= \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} \binom{m-i}{m-3i-1}_{3,2k=0} \binom{m-3i-1}{k-2i} (-1)^k (ab)^{k+1} (a+b)^{2m-2k-1} \\ &= \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} \binom{m-i}{m-3i-1}_{3,2} (ab (a+b))^{2i+1} \left((a+b)^2 - ab \right)^{m-3i-1} \\ &= \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} \binom{m-i}{m-3i-1}_{3,2} (ab (a+b))^{2i+1} \left((a+b)^2 - ab \right)^{m-3i-1} . \end{split}$$

2.1. Generalizations of the results of Carlitz

In this section, we give a general form of identities (3) and (4) as corollaries of Theorem 1. If we take $a = F_n$ and $b = F_{n-1}$ in (5) with the case r = 1, then we get

$$F_{n+1}^{2m+1} - F_n^{2m+1} - F_{n-1}^{2m+1} = \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} {m-i \choose m-3i-1}_{3,2} (F_{n+1}F_nF_{n-1})^{2i+1} (F_{n+1}^2 - F_nF_{n-1})^{m-1-3i} = \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} {m-i \choose m-3i-1}_{3,2} (F_{n+1}F_nF_{n-1})^{2i+1} (2F_n^2 + (-1)^n)^{m-1-3i}.$$
 (6)

Similarly, when $a = L_n$ and $b = L_{n-1}$, we obtain

$$L_{n+1}^{2m+1} - L_n^{2m+1} - L_{n-1}^{2m+1}$$

$$= \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} {m-i \choose m-3i-1}_{3,2} (L_{n+1}L_nL_{n-1})^{2i+1} (L_{n+1}^2 - L_nL_{n-1})^{m-1-3i}$$

$$= \sum_{i=0}^{\lfloor (m-1)/3 \rfloor} {m-i \choose m-3i-1}_{3,2} (L_{n+1}L_nL_{n-1})^{2i+1} (2L_n^2 - 5(-1)^n)^{m-1-3i}.$$
 (7)

For r = 0, we have the following identities

$$F_{n+1}^{2m} + F_n^{2m} + F_{n-1}^{2m}$$

$$= \sum_{i=0}^{\lfloor m/3 \rfloor} {\binom{m-i}{m-3i}}_{3,2} (F_{n+1}F_nF_{n-1})^{2i} (F_{n+1}^2 - F_nF_{n-1})^{m-3i}$$

$$= \sum_{i=0}^{\lfloor m/3 \rfloor} {\binom{m-i}{m-3i}}_{3,2} (F_{n+1}F_nF_{n-1})^{2i} (2F_n^2 + (-1)^n)^{m-3i}$$
(8)

and

$$L_{n+1}^{2m} + L_n^{2m} + L_{n-1}^{2m}$$

$$= \sum_{i=0}^{\lfloor m/3 \rfloor} {\binom{m-i}{m-3i}}_{3,2} (L_{n+1}L_nL_{n-1})^{2i} (L_{n+1}^2 - L_nL_{n-1})^{m-3i}$$

$$= \sum_{i=0}^{\lfloor m/3 \rfloor} {\binom{m-i}{m-3i}}_{3,2} (L_{n+1}L_nL_{n-1})^{2i} (2L_n^2 - 5(-1)^n)^{m-3i}.$$
(9)

The case m = 1, 2 and 3 coincides with Carlitz's, Hunter's and Koshy's propositions.

Now, we give modular identities belonging to the sequence of Fibonacci and Lucas without proofs.

Corollary 1. For $m, n \ge 0$, the following identities hold

$$E_{n+1}^{2m+1} - E_n^{2m+1} - E_{n-1}^{2m+1} \equiv 0 \pmod{E_{n+1}E_nE_{n-1}}$$

and

$$E_{n+1}^{2m} + E_n^{2m} + E_{n-1}^{2m} \equiv 2 \left(E_{n+1}^2 - E_n E_{n-1} \right)^m \pmod{E_{n+1} E_n E_{n-1}},$$

where $\{E_n\}_{n>0}$ is the Fibonacci or Lucas sequence.

References

- [1] L. CARLITZ, Problem H-112, Fibonacci Quart. 5(1967), p. 71.
- [2] L. CARLITZ, Solution of Problem H-112, Fibonacci Quart. 7(1969), 61-62.
- [3] L. CARLITZ, J. A. H. HUNTER, Sums of powers of Fibonacci and Lucas numbers, Fibonacci Quart. 7(1969), 467–473.

N. Irmak and E. Kiliç

- [4] R. L. GRAHAM, D. E. KNUTH, O. PATASHNIK, Concrete Mathematics: A Foundation for Computer Science, Addison-Wesley, Massachusetts, 1994.
- [5] T. KOSHY, Fibonacci and Lucas Numbers with Applications, John Wiley & Sons Inc., New York, 2001.
- [6] T. MANSOUR, A formula for the generating functions of powers of Horadam's sequence, Australas. J. Combin. 30(2004), 207–212.
- [7] T. MANSOUR, Squaring the terms of an l-th order linear recurrence, Australas. J. Combin. 31(2005), 15-20.
- [8] R. WITULA, D. SLOTA, Cauchy, Ferrers-Jackson and Chebyshev polynomials and identities for the powers of elements of some conjugate recurrence sequences, Cent. Eur. J. Math. 4(2006), 531–546.